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[> Hehl 69.08cm
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11 x 2 x 3.14 = 69.08( cm)
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® AE 4cm

@ A& 2.5cm

® A& 6cm

@ A& 2.3cm

® A& 12.56 + 3.14 = 4(cm)

wjepd 9571 71 2 g OU,




Y= ehgle] A el Ay = 2
A reo] dol= 3 emlA] 231 Yo

>
>
[> &g 314cm
>

HEF D 314cm?

(RELE)= (879 1)

:lO><2><3.14+2—314(0m)
29 Yol) = (A48 4 1)

— (99] 9B x (P29 5)
=10 x 31.4 = 314( cm?)
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71 5t

D 100.48cm? @ 125.16cm? ® 134.16cm?

@ 148.56cm? (@)175.8401112

~&B

(7F 99] Wol)= 9 x 9x 3.14 = 254.34( cm?)
(U 2] Hol)=5x5x3.14 = 78.5(cm?)
et = 4ef Wol9 Ak

254.34 — 78.5 = 175.84( cm?) YU ot
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EIA=PAK-N
@ 12 @ 11 @10 @ 9 OR
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AXAX3.14 =785
AXA=T85+314
AXA=25
A =5(cm)
(&9 Zol)=5x%x2=10(cm)
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O0x3.14-0x3=5.6

O0x0.14=5.6
O = 40(cm)
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> & 32cm

100.48 + 3.14 = 32( cm)
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de g [

[ ]x[ ]x314=314
[x[ ]=314+3.14
[ Jx[ ]=100
Dle(cm)
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@5x5x3.14 ® 10x3.14
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(RER]E )% (FFR]5)x3.14
=5x5x%x3.14
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